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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.
Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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@uE A
SECTION A

Ql. f=fefiga wai & @ U® &1 @WT 150 Ysel W HHTEATSATHS GOer
Hifse /Freferfaa @ sw i

Critically examine the following statements / Answer the following in
about 150 words each : 10x5=50

(a) “IY geaw AL #, wewrmiE yuri e aren, U il hefied
=fipd T < fwfor =1 e @ o |7

“Tipu Sultan was trying to build in Mysore a strong centralised and
militarised state, with ambitious territorial designs.” 10

(b) “TIdFar U B WH W E, S« e fam v gem vd et st we
Hifa =ft, o9 7 ARdiE T % FUFRU § GERE B oA i 39

AT R 1Y AT Ry fepar 17

“Not until independence, when economic development became a
conscious and pursued policy, did the Railways begin to realize their
potential for assisting in the transformation of the Indian economy.” 10

(c) ﬁmmmﬁmmgwmaﬁaﬁamwa%ﬁ@
sifgs waifear of 17

“Two important intellectual criteria which informed the reform
movements were rationalism and religious universalism.” 10

d “.. % fagie geua: SeErTg & SHerdE ettt o Rsmsda sifafeE
g Hana-AtEd & fovg gg on 17

“... the Kol Insurrection was mainly a war of the tribal inhabitants of
Chotanagpur against the non-tribal settlers and service-holders.” 10

(e) “Fford fovm f=m yeiteal & 7% @1, a9 3=da: fawat & |7

“The Cripps Mission was plagued throughout, and ultimately
torpedoed.” 10

Q2. (a) YA G Hal dh IUHATETE HI TS FHIAEAT I Hrg-foag o1 ?

How far was the drain theory a focal point of nationalist critique of
colonialism ? 20
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(b)
(c)
Q3. (a)
(b)
(c)
Q4. (a)

(b)

(c)
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vRa H ufeeft fiem @i @n] s 99 % fou s wfwat & adem
HifSu | 3a18 yd-g=wenT g 39 foru S1e U gare W faveme Hifsu |

Examine the forces at work for the introduction of western education in
India. Analyse the thrust given to it by the Christian Missionaries.

FT Y 39 Td H TEHA 7 foh HAlch H ATA-BIEET T 4 gferor wra &
YI=ITT &=t <l AT=afes raqfd 1 weiia foea 2
Do you subscribe to the view that the Anglo-French tussle in Carnatic

demonstrated the internal decay of the provincial chieftains of South
India ?

T H e ATRIeH 6l Y@ S i 319 fohe YR e &1 ?

How would you explain the major trends of the Swadeshi Movement in
Bengal ?

T Ig HEA FEIEd 2 6 1935 % e 3% oA Uwe H ot s 9,
T IS $9 T AT ?

Is it justified to say that the Government of India Act of 1935 had all
brakes, but no engine ?

farean qafdars sm<iem wRda fomt & afd amfss gter scm +@ § Fa
o JUTaSIE! @1 ?

How far was the widow remarriage movement effective in arousing
social concern for Indian women ?

A BT A I T AT i o €9 § R F(AT—=hd fohal T ?
FT 3 VAT Taaar sht AshaT =1 disrar 9g= i 2

Why is the Quit India Movement characterised as a ‘Spontaneous
Revolution’ ? Did it accelerate the process of Indian independence ?

RA sl TaFdl & oI Hod T GUTY =5 o8 hl YHhT 1 JodTehd ity |
Assess the role of Subhas Chandra Bose in India’s struggle for
independence.

eIty fahE HrE%H @ TEEd U9 & Y fRu S @ amfiu wRa %
e 1 Tiears w8 firen @ 2

How did the introduction of Community Development Programme and
Panchayati Raj promote welfare of rural India ?
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@us B
SECTION B

Q5. Trafefaa wual § @ Ui &1 WA 150 ITeai | THTE HTeHeR UHiequr hifero ;

Critically examine the following statements in about 150 words
10x5=50

each

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)

SDF-B-HST

‘G i & Tk onfde ge-ffvaaar, wmfse feaefr, wdsfiw
HAeRiang wd o qatus 1 foasor g o |7

“The arguments of the free traders were a curious mixture of economic
hard-headedness, social benevolence, cosmopolitan idealism and class
prejudice.”

“1914 - 18 %1 gg & giEAT | 31AYd o1 Ud A4 3fogE ¥, quian 64 |7

“There are many ways in which the war of 1914 - 18 was
unprecedented, and in human history, entirely novel.”

“Sm ATH I =T 9 AT SARAY i §=EH A1 Uk g | Fsgarfaar,
& YgH I dlelt Ush Uoidl & &9 H 3gehl gfaset w gyw mefiv smema
a1 |”

“The ineffectiveness of the League of Nations to prevent or to check
Japanese aggression against China was the first serious blow to its
prestige as an agency for providing security.”

“refrderdr, WRA deT F 99 TEa-d TS IUTEwETg SR wmsTaE ¥
YT EFAAT ST WA F HIRE A 6 THY o Jdieh & &9 4 JqH 08 |7

“Non-alignment came to symbolize the struggle of India and other newly
independent nations to retain and strengthen their independence from
colonialism and imperialism.”

qd-ATaaTS] HHTSIETE hl Tehfd i 39 HH AR ST ?

How would you explain the nature of pre-Marxian Socialism ?

9§ qeehr 1 Aifei T sfremntor i gfskn i fra ger gurer fom 2

How did the policies of governments facilitate the process of
industrialisation in Europe ?

geelt il T Wimfaes stfieafd 4 e ugusa & w9 ° 9 ufEfda fen
™ ?

How was Italy transformed from ‘a geographical expression’ to a
nation-state ?
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(c)
Q7. (a)
(b)
(c)
Q8. (a)
(b)

(c)
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T ol ASHEEY I HEAA TEAH BT AU BT AR ghehiv i b
3l qoh WG Fusi § 3w § ufiord garm 2

How far did the Napoleonic preferential stance to help out the French
economy result in embroiling France in continental conflicts ?

194 wrdredt ® warn # fafew shufafes swdn & fu s e sl &t
Iert sgudn ? fafew shufafyes wram & ufy gert ¥ S giafen 6 0

Which factors would you attribute to the British colonial intervention in
Malaya in the 19th century ? How did Malays react to British colonial
rule ?

e Hifvy fe dAfer sl w0 gt 19 wasdt ¥ s @ d
e Teifoes s1fesran wd &fta &fves wawi § o @@ |

Explain why Latin America was beset with chronic political instability
and endemic military conflicts throughout most of the 19th century.

1 A9 39 W W HEAA @ 16 121 (NATO) o Te4 4 afverss qmensii & uiy
F{ieh! gfteshivr | Ueh shifeci bl Sifeh fepa 2

Do you agree with the view that the formation of NATO marked a
revolution in American attitude to the world problems ?

I AT W AG H HEHd & 16 IIHI TaAdl g U3 Ud s weied %
A H T T8 ? 3 U S (R AT I9) H R TR g
fopam 2

Do you subscribe to the view that the Greek War of Independence was

mired in contrasts of the best and the worst episodes ? How did it affect
the Concert of Europe ?

T WHE | feeerk H SERiahd Th awdt § 9w R w2 s @
ffeaed o 2

Was Czechoslovakia served on a dish to Hitler at Munich ? What were
its implications ?
fgdta fova g & uvaTd ona wshat @M # fire 1 ftent w1 v fifsu |

Analyse the role of Egypt after the Second World War in bringing about
Arab unity.
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